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Note : The paper contains three Sections A, B and C. 
Attempt the questions as per instructions given in 
each section. 

SECTION A 

Attempt any two questions from this section in about 

500 words each. 	 2x20=40 

1. Define an indifference curve. What are the 
important properties of indifference curves ? 
Explain consumer's equilibrium with the help of 

indifference curves. 	 2+8+10=20 

2. State and explain the Law of Variable 
Proportions with the help of a diagram. Why do 
increasing returns to a factor obtain when the 
units employed keep increasing ? 	 12+8=20 
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3. Critically examine the quantity theory of money, 

making clear the distinction between Fisher's 

equation of exchange and cash balances 

approach. 	 20 

4. The principle of effective demand forms the basis 

of the Keynesian theory of employment. How is 

it determined ? Discuss its role in the 

determination of equilibrium level of income in 

an economy. 	 20 
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SECTION B 

Answer any three questions from this section in about 

250 words each. 	 3x10=30 

5. (a) Distinguish between price elasticity of 
demand and income elasticity of demand. 
Can income elasticity of demand be 
negative ? 

(b) A consumer buys 50 units of a good at a 
price 4 per unit. When its price falls by 25 
per cent, its demand rises to 100 units. Find 
out price elasticity coefficient of demand. 	5 

6. Examine with the help of a graph the 
relationship between average variable cost, 
average cost and marginal cost. 	 10 

7. A perfectly competitive firm is a price-taker 
firm. Who is the price-maker ? How does he 
work ? 
	

10 

8. Define and explain briefly the different degrees 
of price discrimination. 	 10 

9. Examine in brief the Loanable Fund theory of 
interest rate determination. 	 10 
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SECTION C 

Answer all questions in this section as indicated. 2x15=30 

10. Explain any three of the following concepts : 3x5=15 

(i) Inferior goods 

(ii) Income effects 

(iii) Phillip's curve 

(iv) Investment multiplier 

(v) Gains from international trade 

11. Distinguish between any three of the 
following : 	 3x5=15 

(i) Monopoly and Monopolistic Competition 

(ii) Price effect and Substitution effect 

(iii) Ricardian Theory of Rent and Modern 
Theory of Relit 

(iv) Inflation and Deflation 

(v) Balance of Trade and Balance of Payments 
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